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OPAKOVANI 4.roé¢nik 1

1. Vypocitej zpaméti:

25 + 34 = 53 + 27 = 48 + 86 = 240 + 360 =
28 + 57 = 126 + 37 = 375 + 48 = 522 + 59 =
58 - 26 = 87 - 45 = 63-23 = 120 - 40 =
44-18 = 51-37 = 67-48 = - 230 - 54 =

2. Serad cisla od nejmensiho k nejvétsimu:

580, 5 799, 19 998, 123 456, 7 111

3. Zaokrouhli cisla:

na desitky na stovky na tisice na desetitisice

4518

6 751

37 169

4. Vypocitej zpaméti:

56 + (23 -9) = 85-(36-21) =
56 - (23 +9) = 85 + (36 + 21) =
500 - 350 - 100 = 500 - (350 - 100) =

5. Procvic si malou nasobilku:

2:6= 3:6= 21:3 = 45:5 =
5:7= 8:-4= 24:6 = 18:2=
9:-4= 5°-4= 63:9= 42:7 =
8-3= 6-7= 32:4= 90:9 =
6:-6= 8:-8= 16 : 4 = 48 : 6 =
7-9= 4-3= 42:7 = 54:9 =




